M KaTanor 3anacHbIX YacTew

%)

NAnocTpnpoBaHHbI

Power & force

LaampPron

Mogenb: G110VK

o
o R R R
x
©
T
>
[=
© | =
O | x
mm
(] )
= (8|2 |8
I x | =
©
g8 13|z |2
OKKa
T |o|T|S
eKMH
s (3 |2 |8
S |5 |9 |m
T | (2 |5
I |x |E |x
o (o |o
o ([© |S
o ([© |S
SR
o |O |Oo
N [= =
- [ |
o |O |o
n (v |v
N [ |:n
SN N [N
N BOS BR
 |on [ |
S o | |
= |on [ |
Q |H [ |
<L [ [ |
ol
= |1 | |~ |
o
D | | | |m
x
EAN
S
Qv I
: 3|2
© o | > [N
) o |E |d
9 x |8 |5
3 |2 |5 |c =
s |© [T |ZX
g |E |2 = |E
Q|5 |g |8
T |© |[@ o
T |x |[o |3 |v
o (o |o
o ([© |S
o ([© |S
SR
O |0 |©O |+
N |4 [N |<
L E=E E=0
o |O |©O |N
n (v |v |[d
N ([N |on [wn
S [N [N |N |[o
P O R N
x |O | |S |
S |dH | |©O |Oo
E |;n |l |© |©
Q |+ |O [N |O
< |H [ |+ |O
S e |~ | =




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: G110VK

%11

Ne ApTUKyn HanmeHoBaHue K-8o Ne ApTUKYN HanmeHoBaHue K-80
1 11411-7350210-0000 | KpblwKa KapTepa 1 8 90007-2350210-0000 bont 2
2 90682-2030120-0000 | CanbHWK HUKHWI 1 9 16400-Z2350210-0000 PerynaTop obopotos 1
LEeHTPObEKHbI

3 90007-0620-A1 Bont M6x20 6 10 | 90502-0818-00 LWrnoT 8x18 2
4 90408-2010210-0000 | Llarba 1 11 | 90007-0612-A1 Bont 6x12 1
5 90682-2030210-0000 | CanbHuK ocu perynatopa 1 12 | 15040-Z350120-0000 Pasbpbisrmsartesnb macna 1
6 90501-7010110-0000 | WnauHT 1 13 | 15010-Z350110-Q500 | Llyn macnaHbii 1
7 16061-2350110-0000 | Ocb perynatopa obopoTos 1 14




LaampPron

Power & force

Mﬂﬂ}OCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: G110VK

. ApTuKyn HavmeHoBaHue K-Bo Ne ApTUKYn HavmeHoBaHue K-80
1 | 13300-Z350220-0000 | Konensan 1 5 13111-7350120-0000 | MopueHb 60 mm 1
2 13010-2350110-0000 | WaTyH 1 6 13210-2350110-0000 | Konbuo macnocbemHoe 1
3 13122-7350110-0000 | KonbLo cTonopHoe nanbua 2 7 13202-2350110-0000 Konbuo nopuiHeBoe HUXKHee 1
4 13121-7350110-0000 | Naney nopwHA 1 8 13201-2350110-0000 KonbLo nopuwHeBoe BepxHee 1




LaampPron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: G110VK

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApPTUKYN HavmeHoBaHue K-80
1 14200-2350120-0000 Pacnpeagan 1 10 | 12112-Z350110-0000 | Cyxapb KnanaHa 2
2 14216-2350110-0000 | Ocb pacnpegBana 1 11 | 14314-Z020210-0000 | BonT Kopombicna 2
3 12121-7350130-0000 KnanaH BnycKkHoM 1 12 | 14330-Z350110-0000 | Ocb Kopombicna 1
4 12111-7350120-0000 | KnanaH BbinycKHOM 1 13 | 14311-7350120-0000 | Kopombicno KnanaHa 2
5 14341-7350120-0000 | Pbiyar Tonkatens 2 14 | 14312-2020210-0000 | laika 1
6 14216-7350110-0000 | Ocb pbiyaros 1 15 | 12004-2350110-0000 | MPOKAaAKE KpbilLKX 1
KnanaHoBs
7 14071-2350120-0000 | TonkaTtenb KnanaHa 2 16 | 12411-7350110-0000 | KpblwKa knanaHoB 1
8 12101-2350110-0000 Konnayek macnocbemHblii 1 17 | A5RTC Cseya 3axkuraHua 1
9 12103-2350110-0000 Mpy*KMHa KnanaHa 2 18 | 90007-0512-A1 bont M5x12 4




LaampPron

Power & force MNNOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: G110VK

Ne ApPTUKYN HavmeHoBaHue K-sBo Ne ApTUKYN HanmeHoBaHue K-s0
1 28110-Z350120-Q200 | KorKyx maxoBuKa 1 5 90305-0500-31 Falika M5 3
2 28001-7350110-0000 | WnnnbKa KpenaeHuns KOXKyxa 2 6 80001-Z350120-Q200 KpblwKa geuratena 1
3 28001-7350210-0000 | WnunbKa KpenaeHuns KOXKyxa 1 7 90001-0514-01 bont M5x14 3
4 28200-Z350110-Q200 | CrapTep B cbope 1 8




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: G110VK

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTuKyn HavmeHoBaHue K-80

1 16004-2350110-0000 | MMpoknaska noa 1 3 16001-Z2350110-0000 MpoknazKa nog Kapbropatop 1
TENNOU301ATOP

2 16003-2350110-0000 | TennowusonaTtop 1 4 16100-2350410-0000 Kap6topatop 1




LaampPron

Power & force MNNOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: G110VK
1
2
Ne ApTUKYN HanmeHoBaHue K-sBo Ne ApTUKYN HanmeHoBaHue K-s0
1 17100-2350210-0000 | Kopnyc ¢punbTpa KOMNAEKT 1 6 17001-2350120-0000 Mpoknaaka nog kopnyc 1
dunbTpa
2 90007-0625-A1 bont M6x25 1 7 16210-2250120-0030 Konnauek npatimepa 1
3 90305-0500-31 lalika m5 2 8 17151-7350110-0000 | ®unbTp BO3AYLIHbIN OCHOBHOM 1
4 90204-2350110-0000 Wnnnbka 2 9 17151-7350210-0000 dunbTp NpeaBapuUTeNbHbIN 1
5 16561-7350410-0000 | MnactuHa 1 10




LaampPron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: G110VK

1
Ne ApTUKYN HavmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-so
1 90204-2350210-0000 | WnwnnbKa 2 4 18130-2350110-QB00 | Koxkyx rnywwutens 1
2 18001-2350210-0000 | MpoKknagka raywutens 1 5 90310-0600-31 lalika M6 1
3 18100-2350110-0000 | Fnywwutenb 1 6




LaampPron

Power & force MNNOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: G110VK

Ne ApTUKYN HanmeHoBaHue K-s8o Ne ApTUKYN HanmeHoBaHue K-s0
1 16730-Z2250210-0000 | KpbiwKa TonamMeHoro 6aka 1 6 28001-7350310-0000 | Wnwunbka 1
2 16620-2350120-Q200 | Bak TON/AMBHbIN 1 7 16652-2030110-0000 | ®unbTp TONAUBHbIN 1
3 90683-2030420-0000 | Btynka 1 8 90685-2030110-0000 | XomyT wnaHra 1
4 90007-0645-A3 Bont M6x45 1 9 | 90686-Z350210-0000 | LLUnaHr TonAuBHbIN 1
5 90305-0600-31 ralika M6 1 10 | 90740-2010210-0000 | XomyT WwnaHra 1




LaampPron

Power & force MNNOCTPMPOBaHHbIN KaTasor 3anacHbIX YacTel Mogenb: G110VK
5 4
Ne Ne K-Bo
ApPTUKYN HanmeHoBaHue K-Bo ApTUKYN HavmeHoBaHue
1 | 13501-2010110-0000 | laika maxoBuKa 1 4 30400-Z350210-0100 | MarHeTto 1
2 13510-2350110-0000 | MaxoBuK 1 5 30423-Z350110-0000 | MpoBoA HU3KOBOJILTHbIN 1
3 | 90001-0520-01 Bont M5x20 1 6




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTew

Mogenb: G110VK

Ne Ne K-Bo
ApTUKYN HanmeHoBaHue K-sBo ApTUKYN HavmeHoBaHue
1 | 45200-2350130-0000 | KpoHwTeiiH pbiyara 1 5 16063-2350410-0000 | MpyXuHa pblyara 1
perynaropa
2 | 90305-0600-31 laika M6 1 6 16012-2350210-0000 | MpyxuHa TArM perynatopa 1
3 16072-2010110-0000 | bont 1 7 16062-2350110-0000 | Tara pblyara perynatopa 1
4 16070-2350210-0000 | Pbiuar perynatopa ob6opoTtos 1 8




